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794,000 *14] 7%
= 556
= il
Ea 167
23 HeetM 22 A (28 A ZHI HHXI) 31,960 0 31,960
= 15,980
= 4,79
Ea 11,186
101 @12A4H| 31,960 0 31,960
= 15,980
= 4,7%
= 11,186




SEAk —E—i}iﬂ%{%oﬂ e o
XH: 23 =] S22 1
zi;_—i ;gtiﬂ f’zalﬁ/\hgg - (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

M JIZtHZ2 S E 31,960 31,960

O=22H erd 3 HI(=&=) 31,308

—Jl2= 76,9603 1 +21L« 112 17,778

= 8,889

= 2,667

= 6,222

—=4| 4,000« 1212 x112 924

= 462

& 139

= 323

— St 2,000 x1+212+112 462

= 231

< 69

s 162

-5+ 76,9603 x 12 48 3,695

= 1,848

== 554

T 1,293

—ReRdsH 76,9602 x 1 * 12 924

= 462

< 139

T 323

— % x==g 89,7903 x 1+ 11 983

= 494

< 148

T 346

—5L2F+ 89,7903 x 1 +1.5+22 2,964

= 1,482

[ 444

Ea 1,038

—SEFOHI 300,000 22 600

= 300

< 0

[Ea 210

—4AHEE= 24,771,000 * 12 *12% 2,973

= 1,486

< 446

[Ea 1,041

CRESHE =F 652,000 14! 652

= 326

[ ]

T 228




SN 25HSD

3 2o & SAEES 2]

Chel: 23t 2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
230 CHLHE HHIAI (2R 23HH) 6,600 0 6,600

= 4,620
== 990
[Ea 990
401 Al HIZL S 0HYI 6,600 0 6,600
= 4,620
=S 990
s 990
01 AlZ28| 6,600 0 6,600
O3t etiEr FHIAIS (SXIEE3H)
6,600,000 * 14 6,600
= 4,620
= 990
o 990
23 eHLHE FHIMG(SXIEESHH) 7,500 0 7,500
= 2,250
S 2,625
o 2,625
401 Al HIZ S OHbI 7,500 0 7,500
= 2,250
= 2,625
[Ea 2,625
01 AlZH| 7,500 0 7,500
ORIt T FHIML(EXIE23HH)
7,500,000 * 14 7,500
= 2,250
= 2,625
o 2,625
SW23tAE X 3,310,000 580,000 2,730,000
= 1,100,000
= 664,000
= 1,546,000
402 2I2F X201 & 3,310,000 580,000 2,730,000
= 1,100,000
< 664,000
s 1,546,000
02 QI X2 AL EE(OIHTHE) 3,310,000 580,000 2,730,000
OOLol&t MSESMSHAIZ A EX(2X1)
3,310,000,000& *14] 3,310,000
= 1,100,000
< 664,000
= 1,546,000
2VNEZ23 L SE23HH SFHI (& DHolat 200,000 0 200,000

B2 Hdl)




FA: 2eMS
Hu: 25T L AAUSD 22
Chel: 23t 2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 140,000
=S 30,000
s 30,000
401 Al HIZ R 0HbI 200,000 200,000
= 140,000
= 30,000
Ea 30,000
01 AlZH| 198,000 198,000
OZICH OtOl&F =HEHI SAt
200,000,000 9% 198,000
= 138,600
= 29,700
Ea 29,700
03 AIZSTHYI 2,000 2,000
OZICH DOl &F =HEHI SAt
200,000,000 * 1% 2,000
= 1,400
= 300
o 300
2VNE 2 L SSESH E-FHI(SEA HEH 130,000 130,000
248 £3)
= 91,000
= 19,500
o 19,500
401 AlZHIZ SO 130,000 130,000
= 91,000
= 19,500
Ea 19,500
01 AlZH| 130,000 130,000
OSEAt H=Y FHIHISAL €HE4
130,000,000 * 14 130,000
= 91,000
= 19,500
o 19,500
2V & SE2SHM E+FH|(ReH =42 30,000 30,000
FHEH)
= 21,000
= 4,500
Ea 4,500
401 Al HIYL S CHYI 30,000 30,000
= 21,000
= 4,500
= 4,500
01 Al&H| 30,000 30,000




FA: 2eMS
3 2o & SAEES 2]
Chel: 23t 2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oxor »6l= Z=EEl BA
30,000,000& »14] 30,000
= 21,000
< 4,500
T 4,500
2DVNE 2 L SESHH EFHl(g4dgl Dol 38,000 0 38,000
INRESSESL]))
= 26,600
< 5,700
s 5,700
401 Al HIZL 2018 38,000 0 38,000
= 26,600
== 5,700
[Ea 5,700
01 Al&H| 38,000 0 38,000
Od4gl NAX FHEH SA
38,000,000 * 14 38,000
= 26,600
== 5,700
o 5,700
2INE 2N ¥ SSSSH 2301182 2 28,000 22,000 6,000
3)
= 19,600
< 4,200
[Ea 4,200
401 Al HIZL S 0HYI 28,000 22,000 6,000
= 19,600
=S 4,200
s 4,200
01 AlZ8| 28,000 22,000 6,000
O&cIIE= ESAE
28,000,000 * 14! 28,000
= 19,600
= 4,200
o 4,200
SXEHX XNESE J18U2 15,000 0 15,000
< 5,000
= 10,000
201 er23 | 15,000 0 15,000
= 5,000
= 10,000
03 A= SHI 15,000 0 15,000
OAMzl SXEAX ANSSE JI8UHa
15,000,000 * 14 15,000




FA: 2eMS
Hu: 25T L AAUSD 22
Chel: 23t 2t EER=E)
SA - ZE - B2A(30) - HRA - B of v e HIDE2
< 5,000
s 10,000
EXNE2H E+FH| 576,000 606,000 230,000
= 288,000
Ea 288,000
401 AIEHIX R0 576,000 606,000 30,000
=S 288,000
s 288,000
01 AlZ28| 573,140 602,200 /29,060
OXEA HHSE FHIHIA
50,000,000& » 14! 50,000
< 25,000
T 25,000
OO0[&HR =HFHIALS
80,000,000 x 14 80,000
= 40,000
o 40,000
O0IEs =43t 228 MEAE
24,000,000 * 14! 24,000
< 12,000
T 12,000
OXN&g =HIHIAE
50,000,000 * 14 50,000
= 25,000
o 25,000
OJtglel EMELSR =S80 & =88]
Ard 15,000 15,000
== 7,500
T 7,500
Oxlet tEgel Mssa EXA
51,000,000& » 14 51,000
= 25,500
o 25,500
OHE FHIUIA
20,000,000 * 14! 20,000
< 10,000
T 10,000
OASY 2T A=A
141,000, 000& *9%% 139,590
= 69,795
o 69,795
OBdcl 2548 FHIUIAMY
145,000,000 *9%% 143,550
= 71,775
s 71,775




SN 25HSD
3 2o & SAEES 2]
Chel: 23t 2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Al 20HHI 2,860 3,800 A940
OASY 2T A=A
141,000, 0002 * 1% 1,410
= 705
2 705
02| 2EHE FHFUIAY
145,000,000 * 1% 1,450
& 725
Ea 725
22 MHEZRAIE 25 40,000 0 40,000
= 20,000
o 20,000
401 A& HIX R0 40,000 0 40,000
= 20,000
o 20,000
01 A28l 40,000 0 40,000
OZx=23 HHLXAIE 2=F(AEL)
40,000,000& *14] 40,000
< 20,000
[Ea 20,000
SHEEsN X2 52,624 72,624 /20,000
= 19,680
= 32,944
201 et23| 3,424 3,424
01 At22te|Hl 2,424 2,424
OlfAMSHEEEZ MRES 7
150,000& 122 1,800
OliAgE 22 E40] SUH=
52,000& * 122 624
2 35244l 1,000 1,000 0
OlAEHE S22 RAIE+t|
1,000,000 %14 1,000
301 EtE NS 49,200 49,200 0
= 19,680
o 29,520
14 0Bt 2a3 49,200 49,200 0
ORI MHAte d+=&3SH|
1,000,000& «12& 12,000
[ 4,800
T 7,200
OFEEN A dZsi=
200,000 x 122 2,400
= 960
Ea 1,440
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SN 25HSD
3 2o & FAEE2 2
Che|: RQtAAIE S 2t (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 600 600 0
OHADIE S N2E 200,000 3% 600
03 A= SHI 20,000 20,000 0
OJIBEAl izl 20,000,000& *12] 20,000
gEH WS 7,700 7,700 0
== 1,110
o 6,590
201 2= 7,700 7,700 0
< 1,110
T 6,590
03 S#AH2EHI 7,700 7,700 0
Ot usZZ2 18 29
1,000,000 *43] 4,000
OS50} Y & T2 29
370,000 %102 3,700
s 1,110
s 2,590
g2t 2o 207,850 90,042 117,808
101 @124H| 3,012 3,012 0
M ORINZZ2NSE S 3,012 3,012 0
Ofl22 HM=&Y 2y 3,012
—J=2 (23,9121/100m )+6, 128 ' 23] 2,931
—28= 2,931,0002*2.75% 81
201 et 3| 84,838 85,780 N2
01 AtR2tc|bI 56,984 57,688 AT04
O=&1 &A=8 4,000,000 * 14 4,000
O3JIEE)| |Al&el 2258 7Y
130,000 *6CH 780
Oogald 47 2l 40,0002 128 480
OARI1I12 38l 220,000 x 122 2,640
OAREE 7Y 200,000 * 122 2,400
Otl2+=g 50,000& * 122 600
O&=J18U= 50,000 »2CH =128 1,200
osltgtiz 30,0008 +3CH* 12 1,080
O=2gqds 2o+
100,000& *x10E12] 1,000
Otz LAH|(5H)
60,0002 x 12 +116& 6,960
Ogt=2t =x:H|(5Y)
60,0003 * 1 *365& 21,900
Oagotmae|tiel =2+ 9
200,000 * 122 2,400
odJtdZe e |2+ S
200,000 * 122 2,400




FA: 2eMS
Hu: 25T L AAUSD 22
el ZQtAAIEIS 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OS0IZHAAE SM2+ 28
240,000 * 122 2,880
Osdll RAEF E9
270,000& 128 3,240
O9AetE2 SHI0IX B2 S
216,000& * 122 2,592
ORgegsdlg 36,0002~ 12 432
02 S3=gHl 27,854 28,092 N238
ORS2E=(U0 & AFRE)
500,000 *14] 500
oREgss 700,000 *14] 700
Ost=etE2g2lsl Halt]
300,000 14| 300
Od=s==20l=2g2ls Al
200,000 %14 200
OogtEd RAI2+H| 3,000,000 *14] 3,000
Otttz 30,0002 12 360
oNIIR3 1,850,000& «12& 22,200
O NSRS 6,0003x 12 72
Osd)| HI4SSHEA 2=
5,000 128 60
Oelguies 38,5002« 12& 462
401 Al HIZL 01| 120,000 120,000
01 Al&H| 120,000 120,000
OANBSB 24 BLTA
240,000 *500m’ 120,000
A 8,140,617 7,485,393 655,224
7l 1,604,250
= 771,663
o 5,764,704
TES MSA 2,347,338 2,248,370 98,968
Il 204,250
= 34,663
Ea 2,108,425
HEUAXSE AFS 28,252 35,252 AT7,000
201 er2 3| 23,572 30,572 AT7,000
01 AtR2t2|HI 23,572 30,572 A7,000
O&=lUz2 oI 2t54 &
2,000,000 103! 20,000
Otlled U2AFNARS] o=
70,0002 7 H 23] 980
OHsXE SZH(3H)
8,000 x3&+9 « 12 2,592
202 04| 4,680 4,680
01 2L AL 4,680 4,680




FA: 2eMS
M JANELE
cel: st MSA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHSXE gR=T(SNH)
130,000 x3&* 12 4,680
=3l A& 465,351 467,011 1,660
307 gl2to| & 465,351 467,011 1,660
02 QIZHEAAEE X 57,200 57,200 0
OBt A S ZEIXIE
26,200, 0002 +14 26,200
ORZHEIRA LTI 2t
3,000,000 14| 3,000
Osdl=a 243t
2,000,000+ 11HEH 22,000
OWdME?dal gdat X2
6,000,000 * 14 6,000
03 QIIHHEHE 22X 402,151 403,811 21,660
OXRHZHF2 AIRA 28 & 22
402,151,0003 10 2 402,151
04 CIZHHAMAMH 2 & 6,000 6,000 0
OdeHEHIFY A& 6,000,000 14| 6,000
HOolE=Z &4zt A& 53,800 39,400 14,400
307 @120l & 53,800 39,400 14,400
02 QB AANEE R 53,800 39,400 14,400
OHOIEE 2+2E HXI0H=
1,500,0002 %12 1,500
ONOIEE N=A & HEd A
1,500,00024+18] 1,500
ONOIESE Lt T2
600,000 *40H A 2,400
OJNOIEZ 243 23l
284, 705171 2102 48,400
=0t ¥ a4 HsEs N2 20,000 20,000 0
307 glztol & 20,000 20,000
02 2IZHB A E & 20,000 20,000
Oodlgtz 2838UR FEXE
10,000,000& » 14 10,000
OFad =730t NEA
10,000,000& 10,000
dotSHl 285 d= OletE tE 20,000 40,000 20,000
307 212+01& 20,000 40,000 /20,000
04 QIZHHAIAIH E X 20,000 40,000 /20,000
OZltsdtl 285 &= OletEal
20,000,000 13 20,000
DOtES A M=EUEBI = 50,000 50,000 0
307 el2tol & 50,000 50,000
04 CIZHHAMAMH 2 & 50,000 50,000
Odots ol d==EHUH2UE
50,000,000& *12] 50,000




M 2SI
M JANELE
cel: st MSA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZIot= A M=HI=CIE T3 30,000 30,000
307 elztol & 30,000 30,000
04 QIZHHAMALH 2 & 30,000 30,000
OdotE &l M=UHERIE S
30,000,000& *12] 30,000
ZIotE AU 8= IS X3 23,000 23,000
307 @I2t0| & 23,000 23,000
04 QIZHHAMAIH 2 £ 23,000 23,000
Ot 8=a=203
23,000,000 *13] 23,000
ZIOHOLOI AtHH M IAILIG A BHCHS 30,000 30,000 0
307 lztol & 30,000 30,000
04 QIZHHAMAIRH 2 & 30,000 30,000
OZICHOLOI &MY H=AILIGIAE] B THE
30,000,000& *13] 30,000
Otolatd d=&2043l 30,000 30,000 0
307 @120l & 30,000 30,000
04 QIRHHAMAIH 2 £ 30,000 30,000
OO0l &ty H =& 3
30,000,000& *13] 30,000
ZIOHOLOI AtHH M =HF=OH 2 30,000 25,000 5,000
307 elztol & 30,000 25,000 5,000
04 QIZHHAMAIH 2 & 30,000 25,000 5,000
OXCHOLOI &t M =HI= U2
30,000,000& *13] 30,000
S et 80,000 80,000
307 el2to| & 80,000 80,000
04 QIHHAIAIH 2 £ 80,000 80,000
02023 £2& FetRA
80,000,000& *13] 80,000
ZIotE Al 8=ZO0H =203 15,000 15,000
307 212+01& 15,000 15,000
04 QIZHHAIAIRH 2 X 15,000 15,000
OXetEat A=H0 T A=20H=]
15,000,000 *13] 15,000
SANHESINE 8= dd ==U= 30,000 30,000
307 el2tol & 30,000 30,000
04 QIZIHAIAME 2 & 30,000 30,000
OHMltal SXEEI8 8= g3 ==z
30,000,000& *13] 30,000
d=sgsH =k sl 4,000 0 4,000
307 212+01& 4,000 4,000
04 QIZHHAIAIH E X 4,000 4,000
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oF
uJ
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KIO

Hlw

2,500
2,500
2,500

MEE
Ofl &k2h

1,500
1,500
1,500
25,000
25,000
25,000
25,000
25,000
25,000
26,000
26,000
26,000
230,000
230,000
230,000
6,000
6,000
6,000

15,000
15,000
15,000

ol &rey

3,000
1,500
1,500
1,500
1,500
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25,000
25,000
25,000
25,000
25,000
25,000
26,000
26,000
26,000
26,000
6,000
6,000
6,000
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17,500
17,500
17,500

230,000
230,000
230,000
230,000

- SRA(E) - HIRAY

- ESS

S LRE-L

5
5
5
5
5
5

3,000,000 *1
1,500, 000& *1
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25,000,000 1
6,000,000 *1

26,000,000 *14]
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A
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307 212t01™

=
=

K0
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X
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SN 2SS
M MR SAE
cel: st MSA EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
| e 2ei2isiAl 20,000,000 *14! 20,000
MET SRR TR A 16,650 11,550 5,100
= 3,465
= 13,185
307 2I2H0I & 16,650 11,550 5,100
< 3,465
2 13,185
02 BIRIFAMAIIBE 16,650 11,550 5,100
OMEBHSTEX TR SHAL
16,650,000 14! 16,650
= 3,465
z 13,185
METSDA SYAL(EX) 10,074 10,074 0
= 3,022
= 7,052
307 2I2H0I® 10,074 10,074 0
< 3,022
2 7,052
02 BIRIZMAI B 10,074 10,074 0
OMEHSDY ST
10,074,000 14! 10,074
= 3,022
z 7,052
MBS S502(2F) 42,516 42,516 0
= 10,963
2 31,553
307 BI2H0I & 42,516 42,516 0
= 10,963
= 31,553
02 BIRIZAAII B 42,516 42,516 0
OMERS S5012|0 2AIY
42,516,000 14! 42,516
= 10,963
2 31,553
SAUEADA SHAIA(EX) 10,140 10,140 0
= 3,020
2 7,120
307 2I2H01 & 10,140 10,140 0
< 3,020
= 7,120
02 BIRFFAAII B 10,140 10,140 0
ORAEETDA 2HAY
10,140,000 14! 10,140
= 3,020




FA: 2eMS
Hu: MRS
cel: st MSA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 7,120
AR RAXOISHAIA 82,080 46,751 35,329
Jl 57,456
= 12,312
Ea 12,312
301 EtE NS 82,080 46,751 35,329
Jl 57,456
= 12,312
= 12,312
01 Al EE A ZS(2REXMR) 82,080 46,751 35,329
OAZXHIRH ALY
95,0002 x72H 123 82,080
) 57,456
= 12,312
= 12,312
AU AL ZAL0ISH XIS 12,540 5,100 7,440
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—=34 9,523 =267 Al 2t 123 15,313

OFd2R+Z(28H5E) 10,105
—=3& 76,5503 2 +662 10,105

OoRI2R+4(225Y) 4,546
—=3 3, 17422 +4A| 20179 4,546

ONMSAE HEIFE o= 2¢

200,000 x6H 23] 2,400

OFEZE SHHI(BZHESE)

8,000& x2+ 0L« 12& 1,728

03 BRA(RIAH) 222 231,493 231,433

OARZR:L Ot 22)

19,0672 +2H*QA| 2t 122 4,119

OARIAZ RS (A2 2)

18,5203 12 *15A1 2+ 123 3,336

OAIZIe 2R:2H(EE0) 85,547
—55 8 17,8683 x 1 +24 Al 2t 123 5,146
—b6== 18,0333 x 12 %24 Al 2H+ 123 5,1%4
-2 18, 1983 2 *24 A1 2H+ 128 10,483
—83= 18, 3643 5 *24 A1 2+ 123 26,445
—10== 18,643 x3H+24 Al 2t 123 16,152
—-11ss 18,8803 x2& *24 Al 2t 123 10,875
—125s 19,0673 x 1 *24A1 2t 123 5,492
-7 20,0003 x1H#24A| 2+ 128 5,760

OFg 2RE(340) 106,937
-5 142, 9503 x 1«45 6,433
—b6s= 144, 2713 x1H+452 6,493
-2 145,501 3 x2&H 45 13,104




SN 23S
. HY2IZH(2SHE)
SR CIAERH|(2SHS) (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
-85 = 146,912 x5 x45 33,056
—10s= 149,553 3% x452 20,190
-13ss 151, 0463 »2H *45 13,595
—12s= 152,538 x1H 452 6,865
—17&3 160,0033 15 *45 7,201
OFLHAIRL(ILUMSHH)
28,8802 x3F #4 Al 2Hx52L 18,022
ORI2R+Y(SEZHSE) 13,532
—EH oR2t2R
6,231 x6Z *2A| 2+x84 6,281
-5 o227
25, 1T743+6H +2A| 2024 7,251
Jl2ddl(2stM=1t 45,088 51,608 26,520
201 B2 AY| 32,648 39,908 AT,260
01 A=R2teld| 32,648 39,908 AT,260
O=8AYI| =28 2L S
300,000& * 14! 300
ODZUHoUHES LEEE 72
2,000,000& 2,000
OUS /AAg &Y 70,0003 30 2,100
QRE2A=EZ(EY) 200,000& =123 2,400
OJIEI2YH|(ZNH) 6,600,000& 6,600
OAIRI1D| 29dl(BH)
220,000 x5E x 122 13,200
O3t(sY) 8,000&x7G 0 x 123 6,048
202 04d| 5,700 5,700
01 =ZLHOdHI 5,700 5,700
OECTEREESIE L)
300,000 x 15+ 12& 3,600
OWTAIZ(ZH) 2,100,000& 2,100
203 RF=&H| 5,940 6,000 AB0
M EA2IHRFALI 5,940 6,000 AB0
L VELTEESIEL
5,940,000& 5,940
405 Xt SHI 800 800
01 XML =EF S| 800 800
OARA SAHMEI] 2
800,000 +1CH 800




